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APPLICATION OF INTEGRALS

1. Find the area enclosed by the curve y = — 22

and straightlinez +y+ 2 = 0.

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_KPzWphGDrVqB

2. Find the area of the region bounded by the curve

y = z? and theliney = 4.

o Watch Video Solution

3. Find the area bounded by the curve

y* = 4a’(xz — 1) and the lines z = landy = 4a.

° Watch Video Solution

4. Find the area of the smaller part of the circle

2, .2 _ 2 : a
4+ y° = a° cut off by the linez = —
V2

| o |


https://dl.doubtnut.com/l/_OK7uE0RKsZ2i
https://dl.doubtnut.com/l/_s7yoHCtU7fGj
https://dl.doubtnut.com/l/_vHJAoHGLMjiT

| & Watch Video Solution

5. Find the area bounded by z = at® and y = 2at
between the ordinates corresponding to

t=1and t = 2.

° Watch Video Solution

6. Find the area enclosed by the curve

x = 3cost,y = 2sint

o Watch Video Solution



https://dl.doubtnut.com/l/_vHJAoHGLMjiT
https://dl.doubtnut.com/l/_XZPujyIxR1vb
https://dl.doubtnut.com/l/_nKhAZFDNKFw0

7. Sketch the region lying in the first quadrant and
bounded by y = 922, = 0, y = landy = 4. Find

the area of the region using integration.

° Watch Video Solution

8. Find the area of the region bounded by

Yy = —1,y=2,:1;=y3 and x = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_LcIn9ApMPPas
https://dl.doubtnut.com/l/_zrCzkPLfXXdG

9.Find the area of region bounded by z? + 16y = 0

and its latusrectum.

o Watch Video Solution

10. Find the area of region bounded by the curve
ay® = z°, the  y-axis and the lines

y = a and y = 2a.

° Watch Video Solution



https://dl.doubtnut.com/l/_X8HjOjgxfkru
https://dl.doubtnut.com/l/_wmd4dKauW42h

11. Find the area of the region included between the

parabolas y* = 4dazandz? = 4ay, wherea > 0.

o Watch Video Solution

12. Find the area of the region bounded by the curve

y = z° and the lines y =x + 6 and y =0.

° Watch Video Solution

13. Find the area bounded by the curves

y = zandy = z°.

S


https://dl.doubtnut.com/l/_lRgFMK5dEzEz
https://dl.doubtnut.com/l/_85juT8dQkYPG
https://dl.doubtnut.com/l/_BZQxeMVfWRMN

[ o VWatch Video Solution ]

14. Find the area bounded by the curves

y = 2 — z” and the straight liney = — =

° Watch Video Solution

15. Find the area of the region between the parabola

¢ =y? —6yandthelinez = —y

° Watch Video Solution



https://dl.doubtnut.com/l/_BZQxeMVfWRMN
https://dl.doubtnut.com/l/_MZgDDEilGjv9
https://dl.doubtnut.com/l/_zYY4FmMyqjZc

16. Find the area of the region bounded by the

parabolay = z? and y = |z|.

o Watch Video Solution

17. Determine the area under the curve

Yy = a’ — 22 included between the lines

z = Oandx = a-

° Watch Video Solution



https://dl.doubtnut.com/l/_ns4d3h1xogiZ
https://dl.doubtnut.com/l/_Cw4GKbe52Zm7

18. Find the area of the region bounded by the

parabola y?> = 2z and straight line z — y = 4.

o Watch Video Solution

19. Find the area of the region bounded by the

curves y = z° and the linesy = = + 6 and y = 0.

° Watch Video Solution

20. Using integration, find the area of the region

bounded by the line 2y = — = + 8x-axis is and the


https://dl.doubtnut.com/l/_qjyL7NDSSn3n
https://dl.doubtnut.com/l/_sPHeycd4i1YM
https://dl.doubtnut.com/l/_xXVvO2k83BRO

lines x = 2and x = 4.

° Watch Video Solution

21. If the area above x-axis bounded by the curves

3
Yy = 2 andr = 0 and = = 2is (Tog) 5 then find
0g),

the value of k-

° Watch Video Solution

22. Sketch the region bounded by y = 2z — 2% and

x-axis and find its area using integration.

o Watch Video Solution



https://dl.doubtnut.com/l/_xXVvO2k83BRO
https://dl.doubtnut.com/l/_qRoQnrY82fm3
https://dl.doubtnut.com/l/_kDwXZKK1hKSq

23. Using integration, find the area of the region
bounded by the line y — 1 = z, thex-a xi s and the

ordinates x=-2 and x=3.’

° Watch Video Solution

24. Find the area bounded by the curve
y=(x—1)(x —2)(xz —3) lying between the

ordinates £ = Oandx = 3.

o Watch Video Solution



https://dl.doubtnut.com/l/_kDwXZKK1hKSq
https://dl.doubtnut.com/l/_2IXTB0VL4tGH
https://dl.doubtnut.com/l/_STvikLkL0FxR

25. Find the area bounded by the curve

y = sinxbetweenzr = Oandx = 2.

o Watch Video Solution

26. Sketh the graph y = |z + 1|. Evaluate

1
/ | + 1|dz. What does this value represent on
—3

the graph?

° Watch Video Solution



https://dl.doubtnut.com/l/_O26FfP9suOOm
https://dl.doubtnut.com/l/_JyUIE3irYQGH

27. Compute the area bounded by the lines

xr+2y=2,y—x=1and 2z +y ="1.

o Watch Video Solution

28.  Find the area of the region

{(z,y) : 2 +y* <4, z+y >2}

° Watch Video Solution

29. Using integration, find the area of the region

bounded by the following curves after making a


https://dl.doubtnut.com/l/_ePj8Oo66Rkon
https://dl.doubtnut.com/l/_fBkFvXMtrqEE
https://dl.doubtnut.com/l/_LyRkX3e138IH

rough sketch:

y=1+|z+1,z= —2,z =3,y =0.

o Watch Video Solution

30. Draw a rough sketch of the curves y = sinz

s
varies from O to 3 and find the area of the region

enclosed by them and x-axis

° Watch Video Solution

31. Sketch the curves and identify the region

bounded by the curves


https://dl.doubtnut.com/l/_LyRkX3e138IH
https://dl.doubtnut.com/l/_oIYCJaUz9IYv
https://dl.doubtnut.com/l/_6HFizzSrIIgt

1
T=5,%= 2,y = logzany = 2. Find the area of

this region.

o Watch Video Solution

32. Compute the area of the figure bounded by the

straight lines = =0,z =2 and the curves

y=2%y=2zx— 2%

o Watch Video Solution

33. If the area enclosed between the curves

y = azx’andz = ay’(a > 0) is 1 square unit, then


https://dl.doubtnut.com/l/_6HFizzSrIIgt
https://dl.doubtnut.com/l/_wexQeK004AX2
https://dl.doubtnut.com/l/_Cv9hdbxV9YlB

find the value of a.

° Watch Video Solution

34. Find the area bounded by the curves

y = 6z — z’andy = 2% — 2z

° Watch Video Solution

35. Find the area of the region bounded by

y = /Tandy = z-

° Watch Video Solution



https://dl.doubtnut.com/l/_Cv9hdbxV9YlB
https://dl.doubtnut.com/l/_Fys5Ah0RG759
https://dl.doubtnut.com/l/_utZgvys00oju
https://dl.doubtnut.com/l/_xtAVhufcEX95

36. Calculate the area of the region bounded by the

parabolas y? = 6zandz® = 6y.

o Watch Video Solution

37. Find the area enclosed by the curves

3z® + 5y = 32andy = |z — 2|

° Watch Video Solution

38. If the area bounded by the parabola y* = 4az

a2

and the line y=mx is 7 59 units, by using

integration find the value of m.


https://dl.doubtnut.com/l/_xtAVhufcEX95
https://dl.doubtnut.com/l/_MLtolMYQaQ9X
https://dl.doubtnut.com/l/_EFY3sbAeSsxS

° Watch Video Solution

39. If the area enclosed by the parabolas

1024

y* = 16azandz® = 16ay, a > Ois s$g- units,

find the value of a-

o Watch Video Solution

40. Find the area bounded by the Ilines

y=4x + 5,y =5 — xanddy = x + 5.

° Watch Video Solution



https://dl.doubtnut.com/l/_EFY3sbAeSsxS
https://dl.doubtnut.com/l/_aQcbat9X4DH1
https://dl.doubtnut.com/l/_gqO6Dr7dwqv9
https://dl.doubtnut.com/l/_IRMZXauLbpS3

41. Find the area enclosed by the curves

y= |z —1llandy = — |z — 1] + 1.

° Watch Video Solution

42. Find the area bounded by the parabola

y2 = 4ax and its latus rectum.

° Watch Video Solution

43. Find the area of the region bounded by the

parabola y?> = 2z and straight line z — y = 4.

o Watch Video Solution



https://dl.doubtnut.com/l/_IRMZXauLbpS3
https://dl.doubtnut.com/l/_l72D46lqHFub
https://dl.doubtnut.com/l/_uTkYQ0zP0ibI

44. Find the area of the region bounded by the

2 2
eIIipse — + z—2 =1

o Watch Video Solution

45, Draw a rough sketch of the curve y = cos® z in

[0, 1] and find the area enclosed by the curveithe

lines £ = 0, x = 7 and the x-axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_uTkYQ0zP0ibI
https://dl.doubtnut.com/l/_kCJDxzTrQIhh
https://dl.doubtnut.com/l/_fTd29UFIzbk5

46. A point chanrge of magnitude g = 4.5nC is
moving with speed v = 3.6 x 10"ms ! parallel to
the x-axis along the line y = 3m. Find the magnetic
field at the origin produced by this charge when the
charge is at the point z = —4m, y = 3m, as

shown in Fig.



https://dl.doubtnut.com/l/_ChfKCAmfHEKe

{ ' Vvvallll viaCo S01Iution ]

47.Using the integration, find the area of he region
bounded by the following curves, after making a
rough sketch:

y=14+lz+1,z= -3, =3, y=0.

° Watch Video Solution

48. Using integration, find the area of the triangle
formed by positive x-axis and tangent and normal to

the circle 22 + y2 = 4 at (1, \/5)

° Watch Video Solution



https://dl.doubtnut.com/l/_ChfKCAmfHEKe
https://dl.doubtnut.com/l/_I4QXjdTJJhps
https://dl.doubtnut.com/l/_wTZDRXYioqtP

49. Using the method of integration find the area

bounded by the curve |z| + |y| = 1.

° Watch Video Solution

50. Find the integration, find the area of the region

bounded between the line x = 2 and the parabola

y2 = 8w

° Watch Video Solution



https://dl.doubtnut.com/l/_wTZDRXYioqtP
https://dl.doubtnut.com/l/_njctIjRB9daU
https://dl.doubtnut.com/l/_OOlQ8qapo7Fn

51. Find the area of the region bounded parabola

y2 — 4ax and the line x = a-

o Watch Video Solution

52. Find the area lying above the x-axis and under

the parabola y = 4z — z°

° Watch Video Solution

53. Draw a rough sketch to indicate the region

bounded between the curve y?> = 4ax and the line


https://dl.doubtnut.com/l/_WGyZR2b0SzYW
https://dl.doubtnut.com/l/_wVmIermbocOB
https://dl.doubtnut.com/l/_iQ9tsL2Yk3oX

x = 3. also, find the area of this region.

° Watch Video Solution

54. Make a rough sketch of the graph of the
functiony =4 — ;c2, 0 < z < 2 and determine the
area enclosed by the curve, the x-axis and the lines

z =0and xz = 2.

o Watch Video Solution

55. Using integration, find the area bounded by the

lines x+2y=2, y-x=1 and 2x+y=7

| e |


https://dl.doubtnut.com/l/_iQ9tsL2Yk3oX
https://dl.doubtnut.com/l/_pSoQ7kCWIsVe
https://dl.doubtnut.com/l/_b0GUnjvyJQzJ

| & Watch Video Solution

56. Find the area under the curve y = +/6x +4

(above the x-axis) from x=0 to x=2

° Watch Video Solution

57. Draw the rough sketch of V+l=z, z <2
Find the area enclosed by the curve and the line

r = 2.

° Watch Video Solution



https://dl.doubtnut.com/l/_b0GUnjvyJQzJ
https://dl.doubtnut.com/l/_KBBCuhQG6kNo
https://dl.doubtnut.com/l/_PyRyeLokyHo0

58. Draw a rough sketch of the graph of the curve

2 P
— 4+ — =1 and evaluate the area of the region

4 9

under the curve and above the x-axis.

° Watch Video Solution

59. Sketch the region '(a:, y):92% + 4y* = 36/ and
find the area of the region enclosed by it using

integration.

° Watch Video Solution



https://dl.doubtnut.com/l/_ljpfWxYvqvS3
https://dl.doubtnut.com/l/_7Skwdvn3Abh2

60. Draw rough sketch of the graph of the function
y=241-— 22z € [0, 1] and evaluate the area

enclosed between the curve and the x-axis.

° Watch Video Solution

61. Using integration, find the area of the region
bounded by the line 2y = bx 4 7, x-axis and the

lines x=2 and x = 8.

° Watch Video Solution



https://dl.doubtnut.com/l/_LmIQy2iBoMqD
https://dl.doubtnut.com/l/_MfZNBiVUA2oV

62. Sketch the graph of y = |z — 5|. Evaluate

1
/ |z — 5|dz. What does this value of the integral
0

represent on the graph.

o Watch Video Solution

63. Sketch the graph of y = |z + 3|. Evaluate

0
/ |z + 3|dz. What does the value of this integral
—6

represent?

° Watch Video Solution



https://dl.doubtnut.com/l/_i0vgOGM3Jzzv
https://dl.doubtnut.com/l/_ZTdHunMBsV94

64. Sketch the graph y=|x + 1| Evaluate

2
/ | 4+ 1|dz- What does the value of this integral
—4

represent on the graph?

° Watch Video Solution

65. The area of the region bounded by the curve y =

x+1and thelinesxz =2,z = 3, is

o Watch Video Solution



https://dl.doubtnut.com/l/_RJ6BwMDS0Ele
https://dl.doubtnut.com/l/_2Xwj1dpUnKlf

66. Draw a rough sketch of the curve

Yy = il + 2sin® z and find the area between the x-
e

axis, the curve and the ordinates x = 0 and x = -

o Watch Video Solution

67. Draw a rough sketch of the curve
Yy = z + 2sin? z, and find the area between the x-
T

axis, the curve and the ordinates

xr=0and ,x = .

o Watch Video Solution



https://dl.doubtnut.com/l/_jO1tTiVpQNS3
https://dl.doubtnut.com/l/_zJMvRek8Z3eJ
https://dl.doubtnut.com/l/_cyAGEf5I6WSj

68. Find the area bounded by the curve y = cos z,

x-axis and the ordinates £ = 0 and ©x = 2.

° Watch Video Solution

69. Show that the areas under the curves
y = sinx and y = sin 2z between

T
r =0and x = 3 are in the ratio 2:3.

o Watch Video Solution

70. Compare the areas under the curves

y = cos’z and y = sin’ between


https://dl.doubtnut.com/l/_cyAGEf5I6WSj
https://dl.doubtnut.com/l/_NmWzLxF9gEIr
https://dl.doubtnut.com/l/_k95CPPo7FAxR

z=0andx = 7.

o Watch Video Solution

71. Find the area bounded by the ellipse
22 2
— t+ 5 = land the ordinates £ = Oandx = ae,
a [z

where, b = a2(1 — ez)ande < 1.

° Watch Video Solution

72. Examples: Find the area of the region bounded

by the curve y? = 2y — z and the y-axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_k95CPPo7FAxR
https://dl.doubtnut.com/l/_MxZb295uK3cH
https://dl.doubtnut.com/l/_MSKLH4niL6CK

73. Find the area bounded by the curve 3* = 4ax

and the lines y = 2 and y-axis.

° Watch Video Solution

74. Find the area of the region lying in the first
quadrant and bounded by y = 4z°,

x =0,y = landy = 4.

o Watch Video Solution



https://dl.doubtnut.com/l/_MSKLH4niL6CK
https://dl.doubtnut.com/l/_OBM1LAwe4EP2
https://dl.doubtnut.com/l/_NVCM6mGZDYCO

75. Find the area of the region bounded by
z? =16y, y = 1, y = 4 and the y-axis in the first

quadrant.

° Watch Video Solution

76. Find the area of the region bounded by

z? = 4ay and its latus rectum.

° Watch Video Solution



https://dl.doubtnut.com/l/_9RLxaXLfK8XS
https://dl.doubtnut.com/l/_c836siHDJIWB

77. Find the area enclosed between the parabola

4y = 3z? and the straight line 3z — 2y + 12 = 0

o Watch Video Solution

78.Find the area bounded by the curve 2 = 4y and

the straight line z = 4y — 2.

° Watch Video Solution

79. Find the area enclosed between the parabola

y®> = 4azand the line y = ma.

S


https://dl.doubtnut.com/l/_S6BrqrG9wD6E
https://dl.doubtnut.com/l/_NgE1wUaQUWzt
https://dl.doubtnut.com/l/_abSb2HeNddbt

[ o VWatch Video Solution ]

80. Find the area of the region bounded by the

curvesy =z + 2,y =,z = 0, andz = 3.

° Watch Video Solution

81. Find the area of the region bounded by

y = /Tandy = z-

° Watch Video Solution



https://dl.doubtnut.com/l/_abSb2HeNddbt
https://dl.doubtnut.com/l/_rj0H2Zxh407z
https://dl.doubtnut.com/l/_BpZxruzd52zb

82. Find the  area of  the region

{(z,y):2*> <y < |z]}.

° Watch Video Solution

83. Evaluatef:os 2¢ + e*dzx

° Watch Video Solution

84. Find the area of the smaller region bounded by

2 2
x
the ellipse 2—2 + Z—z = land the line = + % =1

o Watch Video Solution



https://dl.doubtnut.com/l/_RQX1VtBlZdeq
https://dl.doubtnut.com/l/_dtGWSLvhrgkO
https://dl.doubtnut.com/l/_XxKOCDTcDf0s

85. Find the area of the

{(z,y): 2 +y* <1<z +y}

region

o Watch Video Solution

d
86. Find hth if y=sin’x
dr

o Watch Video Solution

87. Find the area of the region enclosed between

the two circles z2 + ¢* = land (z — 1)* + 32 = 1

| ° Wiak~h \NtAdar CAliikian


https://dl.doubtnut.com/l/_XxKOCDTcDf0s
https://dl.doubtnut.com/l/_66DyVzBbLWLz
https://dl.doubtnut.com/l/_Q1kK8OeQgKGH
https://dl.doubtnut.com/l/_zhAOQxZG6As9

A YVOULAIEL VINMWGY JVIVLGIVIE )

88. Prove that the curves y? =4z and z° = 4y
divide the area of square bounded by
x=0,x=4,y=4 and y =0 into three equal

parts.

° Watch Video Solution

89. Find the area bounded by the curve

4y?> = 9z and 3z> = 16y

° Watch Video Solution



https://dl.doubtnut.com/l/_zhAOQxZG6As9
https://dl.doubtnut.com/l/_yGG63rm7kCWv
https://dl.doubtnut.com/l/_d3WOGJ0qeWM3
https://dl.doubtnut.com/l/_Q41hRXIQc0zA

90. Find the area of the region bounded by

y = /randy = z-

° Watch Video Solution

91. Find the area bounded by the curves y = 4 — 2

and thelinesy =0 and y = 3

o Watch Video Solution

92. Find the  area of  the region

|

SIS

2 2
o Yy x
{(ma y)-ﬁ*‘ﬁﬁlﬁz—i—

| ° Wiak~h \Ntda~n CAliikian



https://dl.doubtnut.com/l/_Q41hRXIQc0zA
https://dl.doubtnut.com/l/_x0WwThxiGMgT
https://dl.doubtnut.com/l/_I2KZPQ1NiIEM

93. Using integration, find the area of the region
bounded by the triangle whose vertices are (2,1), (3,

4) and (5,2).

o Watch Video Solution

94. Using integration, find the area of the triangle
ABC whose vertices are A( —1,1), B(0,5) and

C(3,2).

o Watch Video Solution



https://dl.doubtnut.com/l/_I2KZPQ1NiIEM
https://dl.doubtnut.com/l/_zmHIKoYImST3
https://dl.doubtnut.com/l/_5Jltlm8SqvKc
https://dl.doubtnut.com/l/_RFT8Oyh4ZYZi

95. Using integration find the area of the triangular
region whose sides have equations

y=2r+1, y=3rx+1landz =4

° Watch Video Solution

96. A point chanrge of magnitude q = 4.5nC is
moving with speed v = 3.6 x 10"ms ! parallel to
the x-axis along the line y = 3m. Find the magnetic
field at the origin produced by this charge when the

charge is at the point z = —4m, y = 3m, as


https://dl.doubtnut.com/l/_RFT8Oyh4ZYZi
https://dl.doubtnut.com/l/_DE4UAutH45rv

shown in Fig.

° Watch Video Solution

. dy :
97.Find — if y = logx + sinx
dx

° Watch Video Solution



https://dl.doubtnut.com/l/_DE4UAutH45rv
https://dl.doubtnut.com/l/_QdZ9mKjxfyRd

d
98.Find —2 if 2%+ ¢? = 16
dx

o Watch Video Solution

99. Find the area of the region included between the

parabola y?> = zand thelinez +y = 2.

o Watch Video Solution

100. Draw a rough sketch of the region

{(z,y):y* < 3z,32° +3y* < 16} and find the


https://dl.doubtnut.com/l/_vwh3mzSohP3q
https://dl.doubtnut.com/l/_gPSkrTLOpzO1
https://dl.doubtnut.com/l/_vbERHl4hSA8d

area enclosed by the region using the method of

integration

o Watch Video Solution

101. Draw a rough sketch of the region
{(:zz,y):y2 < 5z, 5z® + by? < 36} and find the
area enclosed by the region using method of

integration

o Watch Video Solution



https://dl.doubtnut.com/l/_vbERHl4hSA8d
https://dl.doubtnut.com/l/_ftRtmA4wYnaz

102. Draw a rough sketch and find the area of the
region bounded by the parabolas
y? = 4z and z? = 4y, using the method of

integration.

° Watch Video Solution

103. Find the area included between the parabolas

y? = daz and z° = 4by.

o Watch Video Solution



https://dl.doubtnut.com/l/_FdtMM9ZHJhVa
https://dl.doubtnut.com/l/_pqliRoX9o9hc

104. Find the area of the region in the first quadrant
enclosed by x-axis, line z = ,/3yand the circle

z? 4+ y® =4

° Watch Video Solution

105. Find the area of the region bounded by
y= ./, x = 2y + 3 in the first quadrant and x-

axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_JWjFmWQ6Q72d
https://dl.doubtnut.com/l/_AuwH2shpLZ3o

106. Find the area common to the circle
2 2 2
z° +y° = 16a and the parabola

y? = 6ax,a > 0.

° Watch Video Solution

107. Find the area, lying above the x=axis and
included between the circle 22 + y? = 8z and the

parabola y* = 4z

o Watch Video Solution



https://dl.doubtnut.com/l/_Wiz51r37B2Gm
https://dl.doubtnut.com/l/_hCm6FB1kbKDt

108. Find the area enclosed by the parabolas

y = bzxland y = 222 + 9.

o Watch Video Solution

109. The area common to the parabolas y = 2z*

2 3

and y = z? + 4 (in square units) is (A) 3 B 35 (©
32 o) 3
3 32

° Watch Video Solution



https://dl.doubtnut.com/l/_124weqPPRVDo
https://dl.doubtnut.com/l/_oiEEk1cNZzEo

110. Using integration, find the area of the region
bounded by the triangle whose vertices are (-1, 2),

(1, 5) and (3, 4).

° Watch Video Solution

111. Find the area of the region in the first quadrant
enclosed by x-axis, the line y = /3 = and the circle

z? +y? =16

° Watch Video Solution



https://dl.doubtnut.com/l/_zuUnmCKWPZfp
https://dl.doubtnut.com/l/_POMMDJPVdDUX

12. Find the area of the region bounded by

parabola y?> = 2z + land thelinez —y — 1 = 0.

o Watch Video Solution

113. Find the area of the region bounded by the

curvesy =z — 1& (y — 1) = 4(z + 1).

° Watch Video Solution

14. Find the area bounded by the parabola

y = 2 — 2% and the straight line y + = = 0.

e |


https://dl.doubtnut.com/l/_O3GkFdO4BN2K
https://dl.doubtnut.com/l/_aSfY5YYN3ebm
https://dl.doubtnut.com/l/_Ls8hYiCLOiZc

[ o VWatch Video Solution ]

115. Using the method of integration, find the area
of the region bounded by the following lines

3t —y—3=0,2x+y—12=0,z — 2y — 1 = 0.

° Watch Video Solution

116. Sketch the region bounded by the curves
y=x2+2, y=x, x =0andzxz =1. also, find

the area of this region.

o Watch Video Solution



https://dl.doubtnut.com/l/_Ls8hYiCLOiZc
https://dl.doubtnut.com/l/_lFzqPbdnEO4f
https://dl.doubtnut.com/l/_Cxmd0nlSVTtq
https://dl.doubtnut.com/l/_YOKDPkO3uqgj

117. Find the area bounded by the curves = = y2

and z = 3 — 2y°.

o Watch Video Solution

118. Using integration, find the area of the triangle
ABC, coordinates of whose vertices are A(4,1), B(6,6)

and C(8,4)

o Watch Video Solution

119. Find the area of the region in the first quadrant

enclosed by the y-axis, the line y = x and the circle


https://dl.doubtnut.com/l/_YOKDPkO3uqgj
https://dl.doubtnut.com/l/_OLEnLqc4BBxb
https://dl.doubtnut.com/l/_x5Z1YqEThl7B

z? + y? = 32, using integration.

° Watch Video Solution

120. Find the area of the circle z2+ y® = 16

exterior to the parabola y* = 6z.

° Watch Video Solution

121. Find the area of the region enclosed by the

parabola z? = y, theliney = = + 2 and the X-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_x5Z1YqEThl7B
https://dl.doubtnut.com/l/_bLmM7XGloCGe
https://dl.doubtnut.com/l/_AzNgrvh0dDl5
https://dl.doubtnut.com/l/_IdfLLhl2KSxI

122. Make a rough sketch of the region given below
and find its area using integration

{(w,y):0§y§x2—i—3,0§y§2w—|—3,0§a:§3}

° Watch Video Solution

123. Find the area of the region

{(z,y) 12> +y* <4, z+y >2}

o Watch Video Solution



https://dl.doubtnut.com/l/_IdfLLhl2KSxI
https://dl.doubtnut.com/l/_G6UzoS0seTWK

124. Using integration, find the area of the following

2
Y z Y
— <1< =+ 7.
4__3+}

. w2
region: 4 (z, y): 9 + 5

° Watch Video Solution

125. In what ratio does the x-axis divide the area of

the region bounded by the parabolas

2

y =4z — z’andy = z* — x7?

o Watch Video Solution



https://dl.doubtnut.com/l/_NMDIjoZVdqfa
https://dl.doubtnut.com/l/_lW4HqWsT5QMB

126. In what ratio does the x-axis divide the area of

the region bounded by the parabolas

2

y =4z — z?andy = 2> — 27

° Watch Video Solution

127. Using integration, find the area bounded by the

curvesy = |z — 1| andy = 3 — |z|.

o Watch Video Solution



https://dl.doubtnut.com/l/_0HYsuxDMXNPW
https://dl.doubtnut.com/l/_UhWe3Baffm2F

128. Sketch the region common to the circle
z? + y? = 16 and the parabols z? = 6y. Also find

the area of the region using integration.

° Watch Video Solution

129. Find the area of the region between the

parabola z = 4y — y? and the line z = 2y — 3.

° Watch Video Solution



https://dl.doubtnut.com/l/_Zegjfe0z5uNS
https://dl.doubtnut.com/l/_sqwOFFPSpOHi

130. Find the area bounded by the parabola
r =8+ 2y — y%; the y-axis and the lines y = —1

andy = 3.

° Watch Video Solution

131. The area bounded by the parabolay y* = 4z

and the line y = 2z — 4 on the Y-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_gwFBLZj8WbWz
https://dl.doubtnut.com/l/_xZYSPOXfXu3Y

132. If the area above x-axis bounded by the curves

y = 2"andz = 0 and = = 2is , then find

(log), 2

the value of k-

° Watch Video Solution

133. Find the area included between the curves

z? = 4y and y* = 4z.

o Watch Video Solution



https://dl.doubtnut.com/l/_2MeyAmaV5bFO
https://dl.doubtnut.com/l/_OlsNbayj7bow

134. The area bounded by the curve y = log, z, the

x-axis and the line x = e is (A) e sq. units (B) 1 sq.

unit (C) (1 — l) sg. units (D) (1 + %) sg. units

€

° Watch Video Solution

135. The area bounded by the

7T .
y=2—z?andz +y=0 is (a)Esqunits b.

9 . :
3 squnits c. 9 squnits d. none of these

° Watch Video Solution



https://dl.doubtnut.com/l/_uryTT0DbZUFK
https://dl.doubtnut.com/l/_zrTfHdjWZY8g

136. The area bounded by the parabola z = 4 — y?

q . 't’3b32 33d16
and y-axis, in square units,is - b. == ¢. —-d. 5

o Watch Video Solution

137. If A,, be the area bounded by the curve
y = (tanz)” and thelinesz =0, y=0, z =7 /4

,then forn > 2.

o Watch Video Solution



https://dl.doubtnut.com/l/_LiCT2PyP8k5D
https://dl.doubtnut.com/l/_DrWMZFNdkggF

138. The area enclosed between the curves

1
y = (log)_ (z +€),z = (log), (5), and the x-axis

is 2squnits (b) 1squnits 4squnits (d) none of these

o Watch Video Solution

139. The area of the figure bounded by the parabola
(y — 2)> = 2 — 1, the tangent to it at the point
with the ordinate =3, and the x —a&s is
Tsqunites (b) 6squnites 9squnites (d) None of

these

o Watch Video Solution



https://dl.doubtnut.com/l/_O5mCcKuguwcQ
https://dl.doubtnut.com/l/_5zDtzZDTRgog

140. The area bounded by the curves y = sinz
between the ordinates x = 0, £ = m and the x-axis

is 2 squnits b. 4 squnits c. 3 squnits d. 1 squnits

° Watch Video Solution

141. The  area bounded by  parabola

5 5 . 8a? 16a> 32a2
y° = 4dax and x° = 4ay is 3 b. C. d

3 3
64a?
3

o Watch Video Solution



https://dl.doubtnut.com/l/_dgnRuf6cJxEc
https://dl.doubtnut.com/l/_FggD0W8b3zNI

142. The area bounded by the curve

Yy = z* — 223 + 22 + 3 with x-axis and ordinates

corresponding to the minima of y, is

° Watch Video Solution

143. The area bounded by the parabola y* = 4axz,

L 4 , 2, a
the latusrectum and x-axis is 0 b. ga C. ga d. 3

o Watch Video Solution



https://dl.doubtnut.com/l/_cM02M3QgaokP
https://dl.doubtnut.com/l/_4SyFpxbFQQZI

144. Find the area of the region

{(z,9):" +y’ <1<z +y}

° Watch Video Solution

145. The area common to the parabola y = 2z and

y = x>+ 4is:


https://dl.doubtnut.com/l/_Lo1NCtuDt50q
https://dl.doubtnut.com/l/_c66JM2U6UgNd

Answer: null

° Watch Video Solution

146. Find the area bounded by the parabola

y= 22 + 1 and the straight linexz + y = 3.

° Watch Video Solution

147. Find the angle between the curves 2y* = z3

and y? = 32z.

A (A)1:3


https://dl.doubtnut.com/l/_c66JM2U6UgNd
https://dl.doubtnut.com/l/_M40lmv53gvKk
https://dl.doubtnut.com/l/_rSpA9l0iefuj

B.(B) 2:1
C.(C)4/3:1

D. (D) none of these

Answer: null

o Watch Video Solution

148. Area between the x-axis and the curve

y =cosz,when 0 < x < 2mis:


https://dl.doubtnut.com/l/_rSpA9l0iefuj
https://dl.doubtnut.com/l/_OtnPQWC5bWe7

Answer: null

° Watch Video Solution

149. Area bounded by the parabola 3> = z and the
line 2y = x is:
4
A (A) =
(A 3
B.(B) 1

c.© 2
Q3


https://dl.doubtnut.com/l/_OtnPQWC5bWe7
https://dl.doubtnut.com/l/_unIGU0bfzREa

Answer: null

° Watch Video Solution

150. The area bounded by the curve y = 4z — z*

and the z-axis is:

A()30 5
-(a) —u

B(b)31 5
: 7 u

C()32 5
Q) 5w

4
D. (d) 3?11?



https://dl.doubtnut.com/l/_unIGU0bfzREa
https://dl.doubtnut.com/l/_L7UNLMUTiLgd

Answer: null

o Watch Video Solution

151. The area enclosed between the curve
y?(2a — z) = z° and the line x=2a above the x-axis

IS



https://dl.doubtnut.com/l/_L7UNLMUTiLgd
https://dl.doubtnut.com/l/_Q6TEkaRTyXLY

Answer: null

o Watch Video Solution

152. The area of the region (in square units)
bounded by the curve z? = 4y and the line z = 2

and x-axis is:

>
—
Q

N
—

O
®
w|loo Wk |


https://dl.doubtnut.com/l/_Q6TEkaRTyXLY
https://dl.doubtnut.com/l/_p9PzDv10XEfE

Answer: null

o Watch Video Solution

153. If the area bounded by the curve y=f(x), x-axis
and the ordinates x=1 and x=b is (b-1) sin(3b+4), then
find f(x).

A.(a) (x — 1)cos(3z + 4)

B. (b) sin(3z + 4)

C.(c) sin(3x + 4) + 3(z — 1)cos(3z + 4)

D. (d) None of these


https://dl.doubtnut.com/l/_p9PzDv10XEfE
https://dl.doubtnut.com/l/_TtqwI9nuxi8b

Answer: null

° Watch Video Solution

154. The area bounded by the curve

16 . .
y2 — 8z and 22 = 8y is ?squnits b. Esqum’ts
; 14 . e d it
.?squm S .ﬁsqfu,m S

° Watch Video Solution

155. The area bounded by the parabola y* = 8z,

: ) 16 23 32
the x-axis and the latus rectum is a. b. C.

3 73 73
d16\/§
© 3



https://dl.doubtnut.com/l/_TtqwI9nuxi8b
https://dl.doubtnut.com/l/_32rKdb3yA3HK
https://dl.doubtnut.com/l/_y7F1jTp88dKD

° Watch Video Solution

156. Area bounded by the curve y = z°, the z-axis

and the ordinates x = — 2andx = 1is:

Answer: null

o Watch Video Solution



https://dl.doubtnut.com/l/_y7F1jTp88dKD
https://dl.doubtnut.com/l/_phqosgi21bJO

157. The area bounded by the curve y = z|z|, z-axis

and theordinatesx = — 1 & x = 1is:

W= Wl Wk w| ot

Answer: null

° Watch Video Solution



https://dl.doubtnut.com/l/_GVQaCyBsxNAx

158. Find the area bounded by the y-axis, y = cos x
andy = sinx when 0 < x < 5
A.(A)2(y/2-T)

B.(B) v/2 — 1

C.(Ov2+1

D. (D) /2

Answer: null

° Watch Video Solution



https://dl.doubtnut.com/l/_Dc2fxpO3KZ54

159. The area of the circle 22 + y? = 16 exterior to

the parabola y? = 6z is :

4
A.( )§(4w—¢3)
4
B. (B )5(47r+¢3)
4
C.(C )§(8w—\/3)
4
D. (D )§(87r-|—\/3)
Answer: null

° Watch Video Solution



https://dl.doubtnut.com/l/_Ws5oJsiW8r2u

160. Smaller area enclosed by the circle z? + y? = 4
and thelinex + y = 2is:

A (A) 2(m — 2)

B.(B) m — 2

C.(O)2r —1

D. (D) 2( + 2)

Answer: null

° Watch Video Solution



https://dl.doubtnut.com/l/_AewIfj7wfJvi

161. Area lying between the curves y* = 4z and

Yy = 2z is:

Answer: null

° Watch Video Solution



https://dl.doubtnut.com/l/_uc1UItxLffsG

162. Area lying in the first quadrant and bounded by

the circle z? 4+ y?> =4 and the lines z = 0 and

r = 2is:

= w3 o

Answer: null

° Watch Video Solution



https://dl.doubtnut.com/l/_hTCLblCwJr91

163. Area of the region bounded by the curve

y> = 4z ,y-axis and the liney = 3is (A) 2

9

BQCQD
®) < (© 5 ©) 5

° Watch Video Solution



https://dl.doubtnut.com/l/_ysbvJcGixh2n

